Module Name : Zoology
Exam Date : 15-Feb-2022 Batch : 14:00-17:00

Sr. No. Question Body and Alternatives

The life cycle of Fasiola hepatica the sheep get infection. When they ingest.
&H6V6576V LW elleir aUMLD&Hens SLomGFuilesr GLIMSI GleueTaTmH 6T LiM&eme6T GLoWLd
QUITWS LUMTH&&LILIMUSM S 5TT600T Hlem6L

A : Metacercaria — (Correct Alternative)
QUL LMEFESGCSIKIWT mlemev
B : Redia
G W mlemev
C : Cercaria
FrCa Il mlemev
D : Sporocyst
eCUITCTTen &L Blemey

Signet ring stage seen during :
(WNSED T8 856m600TWITLOl & mevor LILI(HLD B1&HL06) :

A : Pre erythrocytic cycle
WedT eTflGCTT eM&EFL 198 FLpMG
B : Erythrocytic cycle — (Correct Alternative)
flECIm em&L 198 &M




C:

D

Schizogony stage
Flerv Gosment] Blemevy

: Gametogony stage

GaLAL_GLT GaImenf] Blemev

Sagitta belongs to the phylum :
FTSILLIT QL BIS U 6TET QFHTESS) ?

A

: Brachiopoda

Nomess CuwmGUITLT

: Echinodermata

6TEHEM&CTMTR LG LIT

: Chaetognatha — (Correct Alternative)

G CLTCBESST

: Pogonophora

GUMTHCeTMSREUITTIT

"Chagas" disease 1s caused by :
“TFMBMerV” GBITUIEM 60T 2_600TL T8 & 6US! ?

A

Trypanosoma gambiense

19 flCILeor GEFMLOM &L W 6TV

: Trypanosoma cruzi — (Correct Alternative)

19 f1L1L160T GFITLOIT &G (HF

: Trypanosoma Lewisi

19 flLiLeor @& minm 6Sleusorerd)

: Trypanosoma evansi




19 flL1LI6oT GEF MO @) 6umedrerd

Rhabditiform larva is the larval stage of :

T LG &LUITTLD eVITFeU 6Th& 2 ullifleors S 6ot LD Blemev

A : Ancylostoma
2,60T60) & GV MErVGLITLOT

B : Ascaris — (Correct Alternative)
lenasmiflery

C : wuchereria
eL&FCrlwm

D : Trichiuris
1960V T & W, T6IV

Co-factors are :

(@) 60)600T 85T IJ6001 | S>61T 6T60T LIS

A : Co-enzymes and Metal ions — (Correct Alternative)
@) 606007 261& ) LDMMILD 2 CeV s 2 uleof]
B : Co - enzymes and Non - Metal ions
@) 60)600T 26155 LM MILD B6VITE LG0T
C: Co - enzymes and Aldolase
@) 6m600T 26155 LM MILD 3,60 Bev6N
D : Co - enzymes and Hexakinase
©)60)600T 26155 LOMHMILD CleM & & IT60) & G6oT6M
The term covalent bond was proposed by

B MCeU6VEITL LN 60r600TLIL| 6TEOTERILD GI&FTELEMEV (LNGOTQ DML H S 6T




A : Kossel
@& Imeruev
B : Lewis — (Correct Alternative)
suruilerv
C : Latimer
Geulq.LDIT
D : Rodenbash
GrmGLeTGLIag
Hydrolysis of maltose will give raise to :
LOMELGLITem 6N BIMM LG LIS 60TTeL HlemL LILIGI :

A : Glucose only — (Correct Alternative)
&EBHESHMen DL (HEGLD
B : Glucose and Fructose
&Ep&HCsHmeN LMMILD LNTE&GL T
C : Glucose and Galactose
& EBHEHMerL LDMMILD C&H6VEGLMEN
D : Glucose and Mannose
&EBH&HC&HMeNV LDMMILD LOTGE0T ITEN
Relationship between pH and pK is given by which equation ?
pH LM MILD pK -lMH @& @ emLUWilevmeoT QG TLITLN 66T &(HLD FLO6TLT(H) 6TSI 2

A : Henderson - Hasselbalch's equation — (Correct Alternative)

QaM 60T L [J&F 60T — QM EN6rVeVLIML & &FL06oTLIM(H
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11

10

11

: Hardy - Weinber equation

QMM —QeUU6eTELTE &FL06oTLIM(h

: Sorensen equation

G&FMI6ooT& 60T &FLO60TLIT()

: Johannes N Bronsted equation

G MAMEITEN 6T60T LITMTETenVL_L &FL06oTLIM(H)

Oxidation is defined as the :
L&) HJ600TLD 6TEOTLIG) :

A

Loss of neutrons

15 WL L [T IT60TE: 60 61T @) LD & 556V

: Addition of neutrons

BIW, L[ T60TE6M6IT () 60)600T55 & 60

: Addition of electrons

6TEL & L_[J IT60TE 606 (@) 60)600T 5 & 6V

: Loss of electrons — (Correct Alternative)

6TELE LT IT6OT&H M6 @)D & 6V

Gluconeogenesis is :

SEHECHTHICUIT Qg360f &6 6T6oT LIS :

A

Synthesis of glucose from glycogen

R e CH MR e (FHSE &EHHEHETEN 2 MLISGH QFUIS6.
: Synthesis of glucose from raffinose
QLIGermenilel(rH & &EHHBHTEN 2 MLISH QFUISHE.

: Synthesis of glucose from galactose
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SHMTVTEHCL TN BHS &EHECHTeN 2 MHLISEH Q& UG 6V.
D : Synthesis of glucose from non - carbohydrate compounds — (Correct Alternative)
STreUmemamL CrL mm CFILMISGETIBHS &Eh&HECHTe 2 MHLISH C1&UIS6U.
A cumulative frequency plot method is known as :

60606 6U600T Gelle] eIlLITMIGEM6T UemTUD (Lnenm @euelmm MIWILGSRmS! ?

A : Ogive — (Correct Alternative)
6260)5>6)
B : Pictogram
LIl ellem& &L LD
C : Class boundaries
LY fl6y eT6LEmI6V
D : Class interval
LNfley @ emLGeuerf]
The data which is directly collected from the field is known as :
LjeTerfl efleupmisemneT GBI LTS H6eTsHHe0BHs C&& &G0 (nemm @) eueumm
FaOUILUOEmSI?

A : Secondary data

@ evor LITLD Blemev LjeTerfl LMl g et
B : Primary data — (Correct Alternative)

(WS 6V Blemev Leerfl elleuymi g6
C : Tertiary data

eLNETMITLD Blemev LieTerf] el LI iss 6T
D : Multiple data




15

16

14

15

16

LIeuIBlemev L|eiTerf] el LI mhigs 6T

People of a country tabulated based on the economy is consider as :

6@ BITL(H) D& E6m6T au(HeU U6 2LqLILIemnLUl6L 3L Leuemeoor Wil(H&Heme6v @)6)e6umm
FaMIQUT ?

A : Two way table
@ meudl oL L_6)6m 600
B : One way table — (Correct Alternative)
[HeUL 2|LL_6)6m 6001
C : Triple way table
eLneoT Ml eULSl (L L6 6D 600T
D : Multiway table
LieveuLdl S|L_L_660)600T

Statistical facts are presented through maps is :
Lj6Tert] eleU T RIS 6T 618 60T eLAGVLD QLD KIS LI LI(H 85 60T meoT 2

A : Pictogram
LN&CLMTSHTMD (&) UL ellem&ssLLL LD
B : Pie chart
enLl ellem&asLILLLD (&) eUl L elem&asLILLLD
C : Cartogram — (Correct Alternative)
STILGLIT S
D : Histogram
amlenCLIT ST

The value of the middle item of a given data :
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Q&ETH&HSLIUL M 6T H86a16086Tl60 B 3 emallement &mILILIS :

A : Frequency curve
15185 LD G\ 611 600T 61 6D)6TEY
B : Mean
Frnaif
C : Median — (Correct Alternative)
@ 6L Blemev
D : Mode
(h=H0)
The records maintained by the Government :
TEFMHIS U CauBEem6T FLnmlensvllL(h &S eUs! :

A : Recording of Data

LIS 6 &856160
B : Nature of Samples
LTS Fludlesr @ulsuL
C : Primary data
(NG EVBlemEV &&56116V
D : Secondary data — (Correct Alternative)
@) J600TL_ITLD [Bl6m6v &&61160
Who was proposed the model of Biomolecular leaflet model ?

ULTeNGVTT @ 6m6v emne| DMH fleml (et QMBS T WITY ?

A : Latice or Network
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GeVL_6ML6M () QIBLG6UTTE
B : Walpers
GUTEVLLITEN
C : Hillier and Halfman
amlevedlwiy LnMMILD 3,&GLD6oT
D : Danielli and Davson — (Correct Alternative)
GLeofledlud) Lo mILD L me) & 60T
Which one is irrelevant corresponding to four functionally distinct regions in Golgi ?
Gammevedl 2 miLIL6L BTeT@ Q& wWeLLITL(h FHWTS CaumiLIL L LUGH&HEHHG
QUITBHSSLOMHME! 6TS! ?

A : CIS
&Fler
B : Medial
@60 L_[Blemey
C : Trans golgi network
19 T T60TeNV GBMeVES] aUEm6VEY
D : Plasma membrane — (Correct Alternative)
L6 meruLnim &6ue6)]

Which of these are attached to the Ribosome's ?
@eumnilev 618 MFCUTCEF TG EHL60T &) 6076001585 L1LIL_(H 6IT6IT60T.

A : DNA
DNA
B : RNA
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RNA

C : Protein
Wyp=h)

D : mRNA — (Correct Alternative)
mRNA

The non - living substances present in a cell are collectively called as :
Q&F6v6516L &mevoT LMW 2 WIFmm CUIMTIHL&6T QLOTEHSL0TSH @)6) 6l Tml
60L& & L1 (H) 5 60T M 60T ?

A : Protoplasm

LErmLGLmuleTmaLb
B : Nucleoplasm

Blw,serflGuwmLiermeLn
C : Deutoplasm — (Correct Alternative)

1Q upl” GLmLYlem &L
D : Cytoplasm
&L GLmLeTmaFLD

Which one is the CORRECT equation for the relationship between the concentration gradiant and the resting
membrane potential is given by the Nernst equation ?

GBLDSH600TL 62(IH QBIJEOTENVL. FLNGOTLIML 196V 678 Q1&F6V LIL6V&HH 60T HM6T 3L IEH &L
RUIRHGLD @6emLUWINeVTeT 2_me] (LNEmMEem6T lem&:GH M FLO6OTLITL TS 2_6TeTg.

A C

" E=RTIn =L
2 — (Correct Alternative)

<
E =RTIn —
Ca
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D _prr &

Co

:
E =K*RT —L
Co

GMOs Means :
GMOs dl6em& &LD :

A : Genetically Mutant Organisms
Lrlwe Sllegummm o ullifleer
B : Genomically Modified Organism
o360T 3|6malleL LDMMILUTLeMLHS 2 Wiliflser
C : Genomically Mutant Organisms
o360T 9emallevmenr HieFmmm 2 uflifl&er
D : Genetically Modified Organisms — (Correct Alternative)
LTLwev nmmuUTLenLbg 2 ulliflser
A unit consisting of a core nucleosome plus H; protein is called as :

e L0W Bl &efGWTCsTCLM(H @ emetorhs H L|TSHLD Q18 MTetoTL 36V&
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MPSHEHLILB UG ?

A

: Nucleosome

Blw,&efGumEGE LD

: Chromosome

&CrmGLmME&FMmD

: Chromatosome — (Correct Alternative)

GCrmEGLLGLMTE&FMLD

: Polysome

LImed G&F LD

Example of Epistasis is :

eTLllervLmerdlen eTedTLISE M & 6T S SIHETL(H) ?

A

Mutation

GleF IrMHMLD

: Blood Antigen — (Correct Alternative)

QIS S 24,60TLq.8360T

: Blood Colour

@055 bMWD

: Epigenetics

6T 83601119 S 610

The theory of linkage was propounded by
LY emevor 1L &) @) 6urmev @mmgﬁ]u_luul_l_gj ?

A

: P. Spencer
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LY. 6@ LIGTEFT
B : Beadle
QuLed
C : Tatum
LML LD
D : T.H. Morgan — (Correct Alternative)
19 .6T&. LOITIJ& 60T
How many identical circular molecules of DNA present in the human mitochondria ?

L0601 & 6011607 6mIDL_GL_T&HMeoTL.[f 1 U TeNl6L 6T&&H6060T QUL L6160 G LOME iflulmeor
1Q..6T60T.6J. L6V & T MIB6IT 2_GITETET.

A :51t056

5 (& 6L 56
B:5to25

5 (P&6V 25
C:5to11

5W&H6v 11

D : 5to 10 — (Correct Alternative)
5 (W&6L 10

Atavism was first discussed by :

L LmellF (p&eTngediev @eurmev elleumH e LILL LGl ?

A : T.H. Morgan
1q..6T&. LOITJ& 60T

B : Charles Darwin — (Correct Alternative)
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Frjeveny Lmyedlesr
C : Mendel

GQLD6DOTL_6V
D : F.C. Galton

6TL1.&). &ITeVL_60T

Ca®" up-take is speeded by the Protein and controlled by the Vitamin

eflemgeurme Ca’* FHMSH NS LT&LOLD, S{eUl6mMmEs 85I—®UU®E>§J@J5!D@
el LFlsniln C5emel.

A : Collagen,Vitamin A
Q& MeVITER60T, 606Ul L LOl6dT A
B : Fibrin, Vitamin D
SemUL1fleor, emeul L LdledT D
C : Caldeseon, Vitamin B,
&HIT6LG) L 6NLOTEDT, 606U L_LOl60T By,
D : Calbindin, Vitamin D — (Correct Alternative)
& IT6V60)LI60TL9.60T, eme L L_LoledT D
In Bohr effect, the oxygen equilibrium curve is altered by :

Gurmy ellemerailev, ol,5F 60T FLBlensy allemeTea, @ &6Tmev IMTMMLILGSRmS! ?

A : NaCl and KClI
NaCl Lo mih KCI
B: OH and HCO;5

OH" LomMmILD HCO5
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C : pH and PCO, — (Correct Alternative)
pH LOMMILD PCO,
D : PO, and H,O
PO, LDMMILD H,O
A muscle sarcomere length is the space between :
R & FMieCaH Tl WFleT HeTld eTeTLIg @eumMIME& @ emL GuiwmerT @ emLGaler
LG LD.
A : Z-disk and M-Line
Z-5L_( Mmoo M - Gsm(h)
B : I-band and A-band
L6 IDMMILD A —LIL_60)L
C : Two M-lines
@ 76voT(h) M -G&M(H) &6
D : Two Z-disks — (Correct Alternative)
@ geooT(h) Z —-SL_(H &6

Haemocyanin contains :

GO Men & UL6oT 60T @) 60 &H 8 @ & T6voT(H e -

A : Iron
QlpInE

B : Copper — (Correct Alternative)
STy

C : Calcium
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D:

STLVF WILD

Chromium

GGrmilwiLd

Muscles of all animals appear to contain nitrogenous acids such as carnosine, anserine and carnitine. The
carnitine concentration in mammalian brain is :

6TELEVIT A6V TRIG B 61T 60T B5em TG 6rflewIn 85T 6o T 60T, 3, 60TF [f160T LOMMILD &5ITT601119 60T
GurmmedTm emBL_Crmedleoreny yLilevld &mevor LIRS M. GLosID LITeRmL L1q &5 6rfleoT
eLNemeTWIleL 2_6T6r S ITTeoT119.60T L T W6 2 6me

A

: 1000 pg/g

1000 pg/g

: 500 pg/g

500 pg/g

: 200 pg/g

200 pg/g

: 87 ng/g — (Correct Alternative)

87 ng/g

Among the following aminoacids which one is an essential aminoacid ?

BC QaTh&sLILL(BeTer G dlevmiseTley 678 &S UlmeuE LD meT 3 LOlGeoTT

9|dlevld ?

A

Proline

L1G [T IT60)6V 60T

: Alanine

3|6V 60)60T60T

: Lysine — (Correct Alternative)
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606V 60T
D : Tyrosine
6L G Im& 0T

Emulsified fats are converted into fatty acid and Glycerol by the enzyme :

FxLDLD Blemevuilev 2 _aTer Q& MW LILNemenr, Qs MWLIL Sleulnms e, K eflarmey Q& e]|lh

LDTHMES Falqll QBITH :

A : Protease
LGrmgGuierny
B : Lipase — (Correct Alternative)
6m6VBLI6N
C: Amylase
3|6mLDB6V6EN
D : Maltase
LOMELGL 6N
Which of the following is not involved in the control of metamorphosis in insects ?

LYl edTeu HeusoTel MMleL LLEF&e6itl6ir elemFFemns IDmmm BlsLhe] &L BILILMLIG60 @)L LD
QUMM S :

A : Corpus collosum — (Correct Alternative)
STyuen CHMTGeTEFLD

B : Corpora cardiaca
STIFCUMTT STJIQUISHSIT

C : Corpora allata

STTFCUTTIT 6VE6UL_LIT
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D : Prothoracic glands
LCITQSTTH & &TLILNGe6T
The concentration of the following determines the nature of the molt in insects :

LLEF &Herfledr Hemn LG LIMILD 2 (HLOMMHMLD LI60T6U ([H6U60TeUM MIGT 6T6m 8 3L LILIEM L UITHE
Q& mevor(h) [H60 L LIMISeTmSI ?

A : Ecdysone
618600 LG & 60T
B : Juvenile hormone — (Correct Alternative)
e360)6) 60T6V QDT GLO 60T &5 61T
C : RNA synthesis
RNA 2_(HeUT&H&HLD
D : Protein synthesis
LUT&H&CF &5
Which of the following statement is not correct about iris ?

LY 60T (HeueoTeu MMmMIET 678! 3iflen GMISHS! FlWmenT Samm G evemev ?

A : Controls the light that enters the eye
& 6005 615 5 (& 61T HIemLOUWLD sperflullement &L (hLILI(H &SI eoTm S
B : Dilates in dim light
GHMHS QeuerflggFsHev allifleuemLyLD
C : Iris can dilate or contrast
ol &HhIsaD alliflaemLwea|h @uisyii
D : Constriction of iris increase the size of pupil in bright light — (Correct Alternative)

oiflenv SmISGLILG 6uSTeL all@Glenyulle LTLIL 95 &6 LD




39

40

41

39

40

41

The hormone that stimulates the development and activity of the male accessory reproductive organ is the :
21,6007 @) 60TLIGLI(HE8 LO6DOT L6085\ 60T Slemeoor 2 mIL1L|&erfleor eueTiadd Lnmmitn
Q&FWELLIML LY 6m60T SIT600T(HLD MM GLOMTEOTSH6IT :

A : Oestrogen
6TeNVL_GJITE260T& 61T
B : Progesterone
LG MQ&26MV1Y [T T60TE 61T
C : Androgen — (Correct Alternative)
21,6007 L_GJ e 60T 6IT
D : Relaxin
flevmadsendl6or
The cornea is nourished by :

Smyeflwm 2 soorall (helg! :

A : Vitreous humor — (Correct Alternative)
emealL_[Jen anjLog
B : Aqueous humor
315G W6 anjLoly
C : Corneal blood vessels
FHMTIeflWev @55 [HITEOTLD
D : Scleral blood vessels
eV E6fTeL QTS S [HTEOTLD

The insects which undergo an incomplete metamorphosis are :

LLEFF Serfley LDemnnuwmMm 6U6TT 2 (HLOMMMLID 60 LIEM6) :
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A : Butterfly
611 600T600T & S1 LI LL & &)
B : Moths
LOM& &1 86T
C: Wasp
&eme
D : Grasshoppers — (Correct Alternative)
QeaulH&: e
The uterus is suspended in the pelvis by a ligaments is :
Quevalev LUGH W6 &mLemLm U STHRG LNG&HGLD LIL6VLD :

A : Suspensory ligaments
Ligedl& &meoor LU (LD LIL6VLD
B : Uterosacral ligaments — (Correct Alternative)
SHHLIOL FM&HIEV LIL6VLD
C : Mesosalpinx
L5@& & ML LIl evoTE
D : Fibriae
SCULIfIGw
The non-immunogenic, small organic antigenic molecules are called as :

GBIl eTHJFLIemL Smevor(hLD SedTemnwlmm, S\ Ml &ifln 2,600 1968260115
eLN 6V 8 Fo MI G5 61Tl 60T QLW ?

A : Epitopes
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erLGL L
B : Cytochrome
MFLCLTGGTTLD
C : Paratopes
GUGTMTGLITL
D : Haptens — (Correct Alternative)
QUDITLIL_60T
Which of the following body organ having lymph nodes is NOT included under MALT ?
B1600T B (LPLY &G &H6IT 2_6T6IT 6T[HH 2L 6L 2 MILIL] MALT —60T SLD eUFmgl ?

A : Kidney — (Correct Alternative)
Floubrsid
B : Tonsils
L_IT60T & 6L 6N
C : Appendix
&L6LEUTEV
D : Small intestine
FmI& L6V

Which cytokine stimulates the proliferation of activated B cell ?
SmevorL_LILIL L B Q&F60606T QLIHSHEHHMG CUULUMRNSSILD 60 &L CLTe0) & 60T 6T ?

A:IL1
IL1
B:IL2
IL2




C : IL4 — (Correct Alternative)
1L4

D:IL6
IL6

T-independent antigens are mostly :
T— Q&6 FMJMSH 360TL61 60T 6T G LIIHLOLITEILD 6T8 & 60T60) 0|60 LIS ?

A : Univalent
ROHUNSS S CTENLD
B : Divalent
QHUSSSEMENLD
C : Polyvalent — (Correct Alternative)
L160T (LD &5 & & 60T60) L0
D : Pentavalent
BHE! (PSHSHSE0Ten L0
The antibody which can traverse mucosal membrane :

W CEHTEFT LIL6VSHMS SIMTE00TLE QF V608 Fn LUl 60T LITLY. 6TSI ?

A : IgA — (Correct Alternative)
IgA

B: IgM
IgM

C: IgG
IgG

D:IgE
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IgE

Specific Immunity is also sometimes called :

SOILLILL CHMUUSMLGITLIL| 6TeTLIS @) 6UeUTMMTSHED SenP&HELILOGHMS ?

A : Acquired Immunity — (Correct Alternative)
QUMUILILL GBS &ITLIL]
B : Cell-mediated Immunity
Q&6 @6emLLILILL GBITUIGHEML SITLIL
C : Humoral Immunity
@ GLOMyeL GBHITUISHEDL SHITLIL
D : Macrophages
QF6L el (WmS&6T
Humoral Immunity is a type of :

@ GLOMT6eL CHITUISHED L SHITLIL| 6T[HS 6UeN&GHNW FMTHSHS ?

A : Passive Immunity
QFwWevmM GHITUISEDL &HITLIL]
B : Active Immunity
QFwWeLLI(HLD CGBTUISEML SHITLIL]
C : Naturally acquired active Immunity
QUWMeMSHWITSH QUMULILL Q@Fweul(hb GBS SHITLIL]
D : Adaptive Immunity — (Correct Alternative)
S5&HeU6NI0 CHTUISHE0L &HITLIL]

Freund's Adjuvant is :
L1flul600T L. 4L (6h6U MevoTL_ 6T60T LIS :
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: Increase the immune system — (Correct Alternative)

GBHMTUIGL ST M6 AR &F&EH S

: Non-responsiveness

625160 L WITE0ILD

: B-cells

B -Q &6V

: T-cells

T-Q&6v

In honey bees, drones are :
G 60T HH6IT, 19 G ITEITSHEIT 6T60TLIEME

A

The Act dealing with Prevention and Control of air pollution :

ST r&UTH SHhSS560 HMID &L GLUTEH GM&S FLLIDMTTS)

haploid males — (Correct Alternative)

ammLIeumuil(®) &y, 60015 6T

: diploid males

19 L1eu Ul () 2y, 600T& 61T

: haploid females

ammieumuil(® GLI6oorss 6

: diploid females

19 L16eumUWIl(h QO LI60oTSs 61T

A : Act 1981 — (Correct Alternative)

FL_LLD 1981
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B: Act 1972
FLLLD 1972

C: Act 1956
FLLLD 1956

D : Act 1947
FLLLD 1947

Social behaviour evolved from ;
FUNSTW LILPESHSH60r LiKfleoormo euemj&Ee G5 mm mie il

A : Selection of enemies

@ flemw G5 HO S (H &6V
B : Anger

&L

C : Kin and group selection — (Correct Alternative)
BL L LDMHMILD Fal L 1D CHIHESH SHSH6V
D : Courage
afTLh

The lion tailed macque (Macaca silenus) is an :
FBIGAIMT) ST MG (L0&HHMTESTSH 60nFeIl6oTerV) 6(H

A : Endangered African monkey

e MBS B HUTWEpeTeT W LNfl&He GG
B : Australian threatened species

FHFMSSLILLL 9,608 CTedSlw @ 6ornm@Ld

C : African extinct monkey




55

56

55

56

LN sasmeller enmbsial L &IhIE @)6orld
D : Endangered South Indian primate — (Correct Alternative)

emMbHE (BN SLITWILN6TET Q& eTeol IHH W LlemgELoL_(h
Sociogram is :

Felns aUemTULLD (GFMHRICUWSTITLD) 6TeTLIG)

A : a graphical representation of society

FUPSTUEGMS GGG eUenFLIL LD

B : a unit of society
FWPSTUSHET RO VS

C : a diagram that shows parts of society
FUNSTUISS) 60T LIMSHHBISHEM 6T &Mool L& @D @@ eUemTLIL LD

D : a diagram that illustrates relationships based on behaviours — (Correct Alternative)
BL6ULY 55608 86T 60T 219 L1160 L_UI6VITEOT 2_M6Y&HE06IT &Mevor L& &0 et FLIL LD

The Kaziranga National Park is located at :
STATHIGT CHFI LLBIST 3]60L0HSI6TeT @)L LD :

A : Tamil Nadu

SLDBTH
B : Odisha

R
C : Karnataka
SIBITLIT
D : Assam — (Correct Alternative)

SIFTLO
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The fossilized excretory products are called as .
S LIQUTIHETEHET L|60 & LI TS G S5 6V 6T60T QMPGHEHLILOH M

A : Foot prints
LIS LILQ6ILD&6T
B : Actual remains
LN @HEFIWI QILIMTIHL_SH6T
C : Coprolites — (Correct Alternative)
CHMLUIGTITEmM6VL_& 6T
D : Moulds
LILG LD & 61T
The cranial Capacity of Neanderthal man :
Bl W TEdTL[J &5 M6V L0601 556011601 Lo6voT6m) L GUITL_(h) Q& TEIT6meTeY

A : 1800 CC

1800 P&
B: 900 CC

900 A&
C: 750 CC

750 1§
D : 1550 CC — (Correct Alternative)

1550 &

Which era is Golden age of Reptiles ?
6THS W80 2emeueoTed M6t GILIMMEMeVLD :
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: Psychozoic era

MEFSHCHTCFMTUWIGE W &L

: Coenozoic era

FGeormGFMUIS WS

: Mesozoic era — (Correct Alternative)

SCFTGFMUIS W&

: Proterozic era

HrLCrmGasmuild uj&sLn

The average rate of evolution is called :

Frngf]l e s LIFlermingems eTeledTml 3 6mLOLILIT :

A

Horotelic — (Correct Alternative)

RCIMQ L&

: Bradytelic

NomeeLedss

: Tachytetic

LTHQLES

: Aminotelic

LAGeTTQ L6518

Origin of modern men belived to have taken place in :

BeTeor LneoflHevfledT GHMTMMLD

A

B:

Central America
N&SH W QW& EsT

Australia

Bl&LDHSS TS BLULILGSMS!.




62

63

62

63

2L,eVEHCedlwim
C : China
Georim
D : Asia — (Correct Alternative)

QLF W

The gland uropygial present in the chortate animals.
WErmemLIen&Feven &L Smeor LILI(RID (LN&IG [HTeoTesml 66 66V kIS 60T LD

A : Fish
Nz
B : Mammal
LITeuTL_Lq.
C : Birds — (Correct Alternative)
LIM 606 & 61T
D : Reptiles
D6 [J6) 60T
Meibomian glands occur in :

WGumwest &rLiLN&eT @56 &meoor ILBISMS!.

A : Ears
&M 56T
B : Tail
6UITeY
C : Eyelids — (Correct Alternative)

&>600T @) 60ILD S 6T
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D:

Hair

(Cap

The body of Balanoglossus is divided into three regions.
LIV G6oT & G6VITENEN 2 L 6V LIGSH WITeTS! eLnedTml LIGH &Hemmss LNfle sl (heTers.
/606U

A

: Head, neck & trunk

H66V, H(SHF!, 2 L6V LIGH

: Probosis, collar & trunk — (Correct Alternative)

LIGrmGUmenilen, BMTeVTy, 2 L6V LIGSH)

: Probosis, neck & trunk

LIGrmGumeilen, &5 3!, 2 L6V LIGH)

: Head, neck & tail

H6M6V, H(DS G, 6IT6V

In Amphioxus the anterior end is called :
D LNWITE 6rVel68T Foa[760)LOULITEOT (LN DT (LN6M60T LI&H S
P SH&HLILOSR S

A

Tentacles

o gooTHHL_ G

: Flagellum

HeT@emip

: Cilia

GSHmlenLo

: Rostrum — (Correct Alternative)

6T60T M)
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JITENVL_[JLD
The uropygial glands are present in .
6UIMmeL 9. &F Syl 6L FHMeooTLILIRQ S M S!.

A : Fishes
L5 60T & 61T
B : Aves — (Correct Alternative)
LIM 606U & 61T
C : Amphibians
@\ eumLLeNl &6t
D : Reptiles
DN [J6) 60T
The Mullarian ducts are characteristics of

(LP6L GVl UIGHT [BITEITHI & 6T 6L AL QUDOMENE.

A : Cyclostomes

60 &F&G6TMerVGLTLO6N
B : Chondrichthyes

& Imevor 1q.1f] 8 G 61v
C : Elasmobranchs — (Correct Alternative)

6TELITEV LD ITLINJ TR &
D : Teleost

19681 WmervL_

NH,-CH,CH,-COOH is the moleculor formulae of :
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NH,-CH,CH,-COOH 6T60T) eLN6V& G M1 6UMUWILILIMT(H G &IT600T 606 :

A : Betaine
LT emr 60T
B : B - Alanine — (Correct Alternative)
B —2]6V60)60T60T
C : Citrulline
G (H6mr6v60T
D : Taurine
L eor
Homogenous nucleoprotein complexes with a defined biological function possessed by :

LY edTeumeuetalmmieT &ML L 2 ulflwe QawevLIm® Q& meorL Cr ellgLnmeot
Blw,&erflGUIT LTSI So Ll (HLI GILITIHEM 6T 2_6TeTL&S&HIUIemna

A : Bacteria
LimasLe ifludrm
B : Virus — (Correct Alternative)
60)6U TN
C : Fungi
LLEH6&F
D : Plant
STeUTLD
The enzymes which link two substrates are called
@\ SHETLIQUITHETEHM6TLI L60)600T8 G LD G\ [BITH 56T eTeoTLILI(ILD.
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A : Lyases
6m6VEW & 61V

B : Ligases — (Correct Alternative)
G&HF6N

C : Hydrolases
ML CrmGeugFaen

D : Isomerases

OCFTELETF 6

Enzyme substrate complex breaks down to product and enzyme is regenerated. Which of the following equation
1s correct ?

QBTH WL 6T CFIHS ellemerLi(h QLITIHET S l_(B) Flem&HS! aflem6emQLITIHET L0 MHmILD
QBTHIITES 2_[HEUMTESG IS BLDEGH600TL. FLO6OT LML L6V 615! & 2

A:E+S—ES—P
E+S—ES—P
B: E+S — ES — E + P — (Correct Alternative)
E+S—ES—E+P
C:E+S—ES—S+P
E+S—ES—S+P
D:E+S—ES—S
E+S—ES—S

Protein moiety of an enzyme is called :

@@ QBTHWler sl LGS 6TeOTM 6N S LILI(HLD.

A : Holoenzyme

CammCeMQBHTH
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B : Apoenzyme — (Correct Alternative)
LICUTQBITH
C: Coenzyme
S16m600T QBHITH
D : Enzyme
QBTH
The changes occurs in the values of two variables in same direction is called :

@ evor(h) Lomiledlserflest InGILIL&6fleL gHLIGISM ITHMLD GCT Hlenasullev
H60YLQLIMMITEV J&6060T ©)6)6U TN 6MLPLILIT ?

A : Negative Correlation
TRl 2 L 6T Q&ML L
B : Positive Correlation — (Correct Alternative)
Griflenl 2 L 60T QST ITL]
C : Linear Correlation
CBHICHITL(h 2_L 60T QST L]
D : Partial Correlation
LGS 2 L 6T QSITLITL
The differences between the sample mean and the population mean is nil. It is called

LTS fluller Frreifluh QUMTS @)60T8dn L L& 60" & maiflulb @ﬂ@@u_lrratm}mm}
SmeooT L. 91 @ eUaumm SemP&EELILGS M

A : Null hypothesis — (Correct Alternative)

Geof Wl eT(H B MeiT
B : 'F' test
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'F' G&F MG 60)60T
C:'t'test
't G&F MG 60)60T
D : Chi-Square test
M&HEUTEH C&FITSH6M 60T

Who proposed student's 't' test ?
LOmevoTeU [ 't GFMHemeTemn Ul WITT AMWSLILIG &S WS ?

A : Tippets
QLI
B : J. Bernouli
Q2. QUFQBHETES
C : Galton
&IT6VL_60T
D : Sir William Gosset — (Correct Alternative)
g ellevedl Wb GHMR& L

The examination of differences among samples carried out through :

LTS fl5EH &G 60 LGl 2_6aTeT el &HHIITFSHMS @) FH60TeNeVID CFMH EHEEVITLD ¢

A : Median
@ 6mL_[Blemev

B : MODE
ws0h

C : ANOVA — (Correct Alternative)
| GeormeuT




D : Mean
Frnaifl

Student's 't' test is contributed by :
N (BGIL6ooTL 't' QU6 QULPMBIGB I

A : Sir William Gosset — (Correct Alternative)
Fry edleved Wb G&merVQ&FL
B : Neyman
QBUIGLO 60T
C : Sir Francis Galton
gy Ygmesrerlery & mevL_eor
D : De-Moivre
19-Q o6 ]
Which one is the Watson - Crick model for DNA replication assumed that as new stands of DNA ?
UL &eT H 16 LDMLe0l6L 6THS 62(H DNA Lilemeymigedlev LS W @emip 2 (HeuTHmSl.

A : A with T — (Correct Alternative)
A2 | 60T
B: Twith A
T2 LeoT A
C : Purins
LN wyifledTeny
D : Pyrimidins
eIl g 607
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In Eukaryotic cells which type of rRNA occurs in 40S ribosomal subunit ?
WEHGCHIIWIML LY S QFau&6rTlev, 40S emTCGLTGHFITLD &160600T Sn M6V 6T6)6I6ME rRNA
SmeoorLILQ&mS!.

A :50S rRNA
50S rRNA
B : 23S rRNA
23S rRNA
C: 28S rRNA
28S rRNA
D : 18S rRNA — (Correct Alternative)
18S rRNA

is the most sensitive to pyrimidine ionising radiations.

B LD & 85600T L_6) M MI6IT U9 60T BT TeIFS 6TV FH & LTHLIL &GS

D _GIT6ITITER 60T 60T .

A : Uracil
W Cr&lev
B : Cytosine
60 &L GL_IT6t) & 60T
C : Thymine — (Correct Alternative)
60 & Lo 60T
D : Guanine
(&6 60)60T60T

The main roles of the nucleolus are to :

2 L s (mLosoorlulledr (&S Licoorlsserflev epedTm :
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A : Synthesize rRNA and assemble ribosome's — (Correct Alternative)
rRNA 2_muUg S inmmid FIGLMTGFTID eTml GFIEHSH6V
B : Synthesise mRNA
mRNA 2_MLGH)
C : synthesise tRNA and inducing antibodies
tRNA 2 MLISGH L0MHMILD 34,6007 L9 LITLY. &iT6voT (h) &6V
D : Synthesise mRNA and maturation
mRNA 2 MHUSH LnmHmID W T&FFIWLIemL 56V
The hereditary cancer syndromes 'Li - Fraumeni Syndrome' caused :
urmguflu UhmiCrmul et Grmnmenr 69-L|HLiler Ferl_CGrmd gmHU{mSSILD
LIDOIGHITUI :

A : Brain Tumour — (Correct Alternative)

CLOEMEIT LD DI GBI UL
B : Pancreatic cancer
&60)600T LI L| M .mMIGH U
C : Skin cancer
@& Imev LM mIGHITU
D : Ovarian cancer
S[60TL_LD LM mIGHITUL
Insulin producing gene extracted from human genome is not functional in bacteria, because :

neofls 36t QHMTGSGLUILNN MBS LNflE0sHE&sLILL L @)60Tse060T 2 MG Q&0 36T
umssle flumellsnier Q& uwevLI(R U 6L6m6v, 67 G 6oT6o 16V
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A : There is no mechanism of C-peptide in bacteria — (Correct Alternative)
C-QuLlemL(® QFwevm(h LMsLeflulmellser @)6Vemev.
B : There is no mechanism of A - peptide in bacteria
A-QuUUL () QsFweLm®h umseFlwmaleer @ evemnev.
C : There is no mechanism of B - peptide in bacteria
B - QuLIemL () QFweum® Umsie el enieT @ e6vemev.
D : There is no mechanism of both A and B - peptide bacteria
A LMHMILD B QullenL (hH&erfler Q&weuim( LmseflwmallseT @ 6uenev.
Lyon's hypothesis is based on .
66V LIMedTET 60T ST LITLITEOTS! @) 605 21 LILIENLWITS & Te0oTL S :

A : Endoplasmic Reticulum
&L 6TmE auen 6
B : Sex Chromosome — (Correct Alternative)
LImeV GCImELmG& LD
C : Polymorphic nucleus
LI6L 2_(He 2 L&(H
D : Lysosome
MeVCFTEHFTLD

Good example for an interspecific cross.

@ 6T @ el SHevlILHEGSG FMBHSH 2 G MFeooriD :

A : Cow

L&
B : DONKEY
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HDeNS

C: MARE
&Sy

D : MULE — (Correct Alternative)
L wy,60

Oxygen fixing enzyme is otherwise known as :

& F1 60T BHlemeLBlMISSID QBHTH @eueummild S/MluLILIGILD :

A : Protease
LGrmLUilGuleny
B : Amylase
3|6mLDG6V6MN
C: Lipase
elLIGLIE
D : Oxygenase — (Correct Alternative)
31,85 600182 G 6uT61V
Curt stern demonstrated the mechanism of genetic crossing over under microscope in .
&L 66 L[J60T [Hlevor Gevor s S Ul 60T ITey QIHLSH 6V IDTL| GNSHQSHD T
LTHMSNS 6l6md: G 6oTITI.

A 1941
1941
B: 1951
1951
C: 1961
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1961
D : 1931 — (Correct Alternative)
1931

Depolarisation of muscle membranes, especially the larger fibres is facilitated by :
QLD HMTFBMTISET6L 2 6TeT &G Felasertleor LleTLemevor LILNW&H S B0
@) H60TITEL HEOLQLMISHMS :

A : Actin
1519 60T
B : Myoglobin
ML GWIM@&Ger mLileor
C : T-Tubules — (Correct Alternative)
T — 1Q W LLEVSET
D : Troponin
L_Grm@Limeotleor

"Homeoviscous adaptation" refers to :

“FLOLIMG S 56060 FLOMHIE06V &5 6U6nLI0LIL"—60T I LILINL & &(HSSHTe0THl ?

A : Optimal viscosity of cell membranes — (Correct Alternative)

QF6V F6la| 5660 2 5H5 LIME S 60Te0 L0
B : Melting point of fatty acids in the cells

QF6LE06T 2_6TG6IT 2_6TeT QSMIOLIL] EVBIEHET 2_(HE&LD GeULILIBlem6v
C : Miscelle formation

Q&MWLILS S1&6T5H6T (LNF6V) 2 (HeUME LD

D : Lubrication of organs
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2 MILIL& 5660 2 W6

A 24-hr rhythm that peak during the daytime are called :
24 06O 1@BIT &HITeV R(MHISMLNAT6, LISV GHILD 2 F&LD 6056V @)6U6UTmI
WNEHESILOR M

A : Tidal rhythm

60L_L6V&HITEV 62(L0 M1 &H6MLOGY
B : Annual rthythm

21600T(H & M6V 62(LD MhIFH60)LD 6

C : Diurnal rthythm — (Correct Alternative)
LI&G6VEHITEV 62 (LD HIG 60LN6)]

D : Nocturnal rhythm
@\T6) &6V 6(LDMKIS60) 06

Myosin molecule is composed of how many polypeptide chains ?
LD CUITE 60T eLNEVE T M6V 675 & 66T LMl QLML L (h &M 60 56T 2_6Temsor 2

A : 6 (2 heavy chains and 4 light chains) — (Correct Alternative)

6 (2 H60TLDIT6oT FMRITE0I&H 6T LDMHMILD 4 6T6D)L (&6D) M6 T60T & MhI5 601561T)
B : 8 (4 heavy chains and 4 light chains)

8 (4 B60TLOIT6OT &FBIG60G6T LDMHMILD 4 6TEML (&6 MEUTEOT & MG 605 6T)
C : 4 (2 heavy chains and 2 light chains)

4 (2 BHEOTLOTE0T SFMBITE0 6T LDMMILD 2 6TeML 6D MEU 6T & MG 60l &H6iT)
D : 2 (1 heavy chain and 1 light chain)

2 (1 &eoTL0MenT FMRIGE0 LnMMILD 1 6TEML GH6MMEUT6T &FMmhiG6d)

A marine fish maintains body fluids about as salty as the sea water of the surrounding ocean (isosomotic) and so
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does not tend to lose water by osmosis. However the glomeralar kidney of the fish is an ion-regulating structure.
It removes Ca’ ", Mg and SO, ~ and reabsorbs K* and CI". What is the name of the marine fish ?

&L6V BIflev UMPGEHFnIq Ul @)HS 6U6M S LI6GOTEOTTEOTS! &H60TERIen LU 2 L6V HJaUSHemS &6V
Bfleor 9ILTSD el B &M LTSHUNL emeaus s Q& TaTH M. 6TeoTG6l & 60T

2 L6 Hyeaugiems Felay(h LITel6 eLneuld @LoLILIS @ 6vemev. GLoaild &Germmllpeury
Aobrsd gweilsamner L GULGSSID 2 mIIUTsS QFwWeoLO(&ImaE. @& Ca™t, Mg™
LDMHMILD SO, - @ emeudemen H&HSH K nmmild Cl- »jweoflemeT LDMILIQU|D 2 MlEhF
Q&TTHR M. 3(HS L6vfl6dT QLIWIIT 6T60T60T ?

A : Shark
ST
B : Sea bass

Q& mHeurr
C : Myxine — (Correct Alternative)

L6 & &) 60T
D : Echeneis
675G\ 60t |61V
The type of chorio-allontoic placenta that exist in horse :

SHenpserflev smeoorlILBLD CaHmFlGWIT jeveTL L mulls SmlGsFul @ emetorLIL] H&r
QU :

A : Diffuse placenta — (Correct Alternative)
LIT6U6VITEOT &TUIGHFUI @) 6mevorLIL &5 &
B : Cotyledonary placenta
ST 960 6ol HTUICH I @)6mr600TLILE H) &

C : Intermediate placenta
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@ emLBlemey SITUICHF U @) 60600 LIL| S5 &
D : Zonary placenta
Gameorifl HTUICE I @) 60r600TLIL|5 D) &
Which of the following is correct about Ageing ?
L9 60T6U (IH 6 60TEU M MIET (LSO L G6V GM& S &iflulmeT &(H&H S 615! 2

A : The body gains weight
2 L6V 6Tt A5 &6 GLD.
B : The volume of blood increases
GBS UL 66y T SF&GLD.
C : RBC is produced at slower rate — (Correct Alternative)
@ U585 FlaULlLIsDISEH6T GmMbHE CoussHH eV 2 ML S WG LD.
D : Body gains water
2 Ledev HEFmMLD & &HINMELD.

Blastula formed of two types of structurally different blastomeres is called :

@ MGCaUMI 6UEMGHWITEOT &(IHECHITET Cl&F6VHMEIT & T60oT(H 2_(HEUTET (H 2 (Hh&ES
&H([HEHCSHTETLD @) 6UeUTM SeML& S LGS OTMS! :

A : Coeloblastula
FGeum LNeTmerv(®evrT

B : Amphiblastula — (Correct Alternative)
2L Wermerv®meur

C : Discoblastula
Quil Wermerv®mevir

D : Periblastula
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196NV G& T Llemmerv(meurr

Corpus luteum secretes the hormone :
SITTLIEN SUTL_LQUILD &J&ELWD T GLOITeoT
A : Androgen
21,6007 LG T 60T
B : Progesterone — (Correct Alternative)
LG mG26MVLq [T [T60T
C : Oxytocin
2,5 6r0 G L&) 6ot
D : Prolactin
LG M6LT&sLq.60T

How many phases present in the Biogeochemical cycles ?

2 U917 yead Gaud &LMEF U6V 6T8 5560 60T Bl 6016V 6T 2_6IT6ITEOT ?

A : Three
eLp 60T
B : Four
5 T60T &
C: Five
BHS!
D : Two — (Correct Alternative)
@uevor(h)
Congenital immunodeficiency characterised by defect in MHC II gene is termed as :

Nmell GrmrQuwSHFLIL &emuUm(®, MHC - 1T InJUsmial6v gMLI(BleussTev G5 meoTmILD Blemey
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A : De george syndrome
19 2MFe Fleor_GrmLd
B : Down's syndrome
QL6medT FeoTL_GI LD
C : Bare Lymphocyte syndrome — (Correct Alternative)
Ly Sl CUmen&L. FleTL_GIImLD
D : Turner's syndrome
Ljeory Sleor_GrITLd
The animal which preys the other living species is known as :
6(H VBRI EOTLNMETS! LDMGMTIH 2 U [HeTeT 63l6VH S 60TEH 60 2_600TEUMTS GG TE0OTL_IT6V :

A : Cannibalistic
SH60TSL_19.&H606T &ITE60T 26007600 &6V
B : Predator — (Correct Alternative)
) 55 IT60T M1 600T 6001 | 55 61T
C : Parasite
62 (b 60076001 |
D : Primary Consumer
(PS6VHBleMeV BISTGaUTH
When microevolution operates for a shorter period of time it leads to ?

mlevor LIfleoor MDD G MIS W SITeVLD HeLLIQLIMMTEY &l 6TEHM & aULPlel@G & @& ?

A : sequential evolution — (Correct Alternative)
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QsTLieuflema LifleoormLoLd
B : divergent evolution
VTR F QF6LaYILD LITfleoor oL
C : macro evolution
QuUEBLDL Lflevor oD
D : mega evolution
LOTGQLIBLD LITfleoor ML
One of the key assumption of Hardy-Weinberg principle is :
anMFLL-GeuulleTLITH & U 6T ([ (LN W,&HLD 6T60T60TG U6 MITEV :

A : The population must be small
@)60T5 Sa LD WS6a 0D AMWLUSTS @) [HEsH Ceustor(hLD.
B : The population must be heterogenetic
@) 6015 Fal L LD QamL 19 CrTaRerflle s 3,56 @ Hsss Caustor(hLD.
C : The population must be infinitely large — (Correct Alternative)
©)60T5 ol L_LD 6T600T600116VL_BIS TS 3j6me QUIlWsTe: @) Ha s Ceustor(HLD.
D : The population must be homogenetic
@) 6015 Fnl L LD CamMBLOTGIR260T119.85 3,8 @) (H5H5 Galevor(hLd.
Phyletic Speciation is :
LGS FNHMI6T 2 (HeUTH S LD 6TeTLIS

A : formation of new species suddenly
LS W Fimmleotd HIeQTe6r 2 (H6UTE S 6V
B : formation of new species in due course of time — (Correct Alternative)

LS W FS\mnileotd SmeulIGLITEHGH6V 2 (H6UTE S 6V




C : formation of new phylum
LS Ul 6mLI6VLD 2_(H6UTE S 6V
D : formation of species from non living things
LS W Ammlerid 2 uNgmmLl QUL G669 [hbH S G medrmigen

103 103 Speciation that involves Geographic Isolation is :

LeNuilw seoflemnnlIL(h &S H6m6V 2 L& mevor L FIMLUILN6T 2 (Heum& &I :

A : Sympatric Speciation
FourLifls A mnileor 2_[HelTs S50
B : Parapatric Speciation
urgmurliflés Amriller 2 (HeUm& s
C : Allopatric Speciation — (Correct Alternative)
evCeumuUmLifl& G \mLiLSleor 2 (HeUmT&H &L
D : Geopatric Speciation
SBIGWMCULIflE S\ LILITeT 2_(HeUME & LD
104|104 Icthyostega is a primitive :
@ &H GUIMENVIC ST 6(IH G & M6E0TEM LD LLITEOT :

A : Fossil Bird
Ljen & LILILY 6l LIM6n6U

B : Fossil Amphibian — (Correct Alternative)
Lien&LILIg el @ @eurped

C : Fossil Reptile
L|60) & L1LILQ 6) 26T [T6) 60T

D : Fossil Fish




Liemn & LILIg 6 LieoT

105 1105 The theory of genetic drift was developed by

“byys SHifly” eteorm GamLum®) 6TEOTLIGUTIT6L GO LIMSSLILIL LS.

A : Sewall Wright
FeUimev en L
B : Hardy
QT
C : Weignberg — (Correct Alternative)
QeUWIETELITE
D : Charles Darwin
Fryeveny Lmyedlesr

106|106 'Quantum Speciation' was defined as "the budding off a new" by .

‘@ 6Umevor L LD S\mnileor 2_(HeUms:&sL0’ 6TEOTLIRUITITEV “6p(IH LIS W QoML ()
(B &6V 6T6OTMI QU600 &S LILIL LS.

A : Grant
G\ [y mevoT L
B : Ayala — (Correct Alternative)
SW6VIT
C : Carson
& ITIJ& 60T
D : Bush
L6

107 107 Considering the ecological organizations, the range between tops of the highest mountains and floor of Oceans is




classified as :
FHMIEF@GLP6V enlnlILN6T L& 2 WFTHS LD606VSH6NTI6T 2 F&F & 658 G LD
QLIPS L6V 56IT60T &6IT6H MG LD @)emLUl6evmeoT euFLDL] 6T6oT UM S LILMNSSLILGRmS! ?

A : Biosphere — (Correct Alternative)
2 UNF&ESITETLD LN6DoTL6VLD
B : Exosphere
LMD & & MMM LO600TL_6VLD
C : Troposphere
Q@ 6ULILI LD6DOTL6VLD
D : Stratosphere

LSeue6rf] LD6DOTL_6ULD

108 108 Renewable source of energy is

L&U$855588 L,MMeV CLNVLNTS @HERMS.

A : Petroleum

QUL Gy medlwiLh

B : Coal
Blev& &Iyl

C : Nuclear fuel
il 655G

D : Trees — (Correct Alternative)
LOTJ 1Bl & 6T

109 109 Extensive planting of trees to increase forest cover is called :

TG W HH&fl6e InFmgEemneT allifleums HL6y Q&ulal g 6TEOT M)
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MPSHLILOHR M.

A

Afforestation — (Correct Alternative)

&HT(h eUeTyLIL]

: Agroforestry

Geuermeoor &IM(H & 6T

: Deforestation

ST

: Social forestry

Feuns &T(h&6T

The "Land Ethic" book was authored by :
“EUITEOTL. 6THEEN” 6T60TMI LSS5 S H 60T LML LA flwir

A

Aldoleopold — (Correct Alternative)

VG MeOIGUIT GLImeVL-

: Jared Diamond

SOTL L UJITLOGOTL.

: Odum

6L LD

: Rachel Carsons

TTQ&F6V &ITJF60T6N

The chairman of Secondary Education Commission (1952 - 53) was
@ 6emLBlemeus 8608 G (1952 — 53) —@)60T &H6M6ValT

A

Dr. S. Radhakrishnan
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LTSI S. JITSITE (H61q.600T60T
B : Dr. Zakir Hussain
LT&HLT FM&HT 2 GFer
C : Dr. A. Lakshmanaswamy Mudaliar — (Correct Alternative)

LT&LT A. WL & Loeord Ml (ngeSlwimy
D : Dr. D.S. Kottari

LT&LT D.S.CHME5 SISl

National Adult Education Programme (NAEP) was launched by the government of India on
GxHAW WS CWMT sevall G L LD 6TeoTLIZH @HEH U TFMeL QY TIDLNGHELILL L 3,600T(H)

A : 5 April, 1977

5 egLIgev, 1977
B : 5 September, 1977

5 Q&L LDUIb, 1977
C : 22 February, 1978

22 dgeurfl, 1978
D : 2 October, 1978 — (Correct Alternative)

2 9&GLITLT, 1978

Who insisted upon reforming education to suit the educational pattern that existed in ancient times ?

LIeooTem L &Mev SHevalluilwiev (pemmuilev smeoorLILIL L emed GLIM6L QILIM(IH& S L0 60T
sevallWlwey ETEH& LD Q8smevor(h 6UTCeuetor(hLD 6T60T (&SNS amlulell

A : Rabindranath Tagore
TeibSTBMS &Ml
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B : Swami Dayanand — (Correct Alternative)
erveu Ll &WimeoT[H

C : Mahatma Gandhi
ID&HMTSHLOM HTHS)

D : Swami Vivekananda

el eNCeusmeoT & T

The term usually used to refer to people with superior intellectual or cognitive performance is :
LD T600TEU [ 55 61T 60T GLOEIT6MLOLLITEUT Bl6m6uLL|6m LUl M6 & T M6dT B{6V6V ! L|6V 60T
MleummmeL QFWmHH menerd &ML &G HIMs LWeTUGSSLILIGILID QFTeV

A : Gifted — (Correct Alternative)
BIFOU eITUI&SSL QUMM
B : Talented
Q& W6 HIMLD UMTUIHS
C : Smart
FaJ0l6|S HDLD
D : Standard
51 63Y6V W 60T

Double promotion is a program for gifted students.

S&5H M Lnmevorel & erflest @TLlenl 2 ulje| HIL L LD

A : Enrichment

UeTLILI(H & SIH6V

B : Acceleration — (Correct Alternative)

sflsliLBh S8 SH60
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C:

D

Ability grouping
Blmer W

: Segregation

LK fleyliL®G &8 SH6v

Minimum Levels of Learning will help to maintain throughout the country.

GODHSLLEF SMHM6Y, BITH (LN(HEUSEILD

A

Plene PIMSS 2 FRDE!.

: Common Scheme of Education

QUIMTE s60aNlE HILL LD

: Reasonable standard of Education — (Correct Alternative)

Fflwmer &sevailg &Il

: Flexibility of Education

&HevallileL QBHLD6) G FH60T60) D6 LI

: Children Centred Education

GLHENS OIS &MHMENSH S

Which one of the following listed factors that influence learning are not related to the content ?

FCL Q&HMTH &S LIUL (6T SMMmemnev LIMSH & @G LD &Treooflaserflev LML L1 @ LITIHEBHL 6ot
Q&TLILN6V6VTS SITITevot] 613 ?

A

: Nature of the content

LML QUITHerfledr &eoTemln

: Methodology adopted for teaching - learning - experiences — (Correct Alternative)

HMHMV — HMHLINGSHE 366U 6T 6ULDMHIGHISMNEHTH LIWLTUG SSLILIL L
(LM &6IT

: Selection of the content
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LML QUITHem 6T CHJ6 Q& UISH6V
D : Organisation of learning experiences
HMHM6V |60)ILIAIMIGEN6T (D60 MLILI(HN &S SISH6V

According to Smith, the learning process involves a motive or drive, an attractive goal and a to the
attainment of the goal.

FHMHMEV (LLEMMWITEIS @RIH QFUWEVEHMTEHELD, QFWLI) 2155 LD, &6U[TEFUITET @)6V5H G
LOMMILD @)6V5 5 60 60T 26MLUISBTnlqUl — U|LD 5560T60) 66T L85 U1 Sl 6T60T LIS
VLA & B 60T Fo HMMTSLD.
A : Strategy

H) 60T 6LU6LEVEMLD
B : Block — (Correct Alternative)

&0
C : Interaction

@) 60)L_6l 6my60T
D : Need

G emel

years the child's brain gains 80 percent of its final weight.

GBS U eniem LU eLpemeruiedr QLME S eTemL_uilev 80 &F56H &IN —— alUIFH6
2P &H&EH DS

A : Four — (Correct Alternative)
[HT60T&

B : Eight
6TL_(h

C: Two
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@ yevor (b
D : Six
3,0l

Child's instincts, attitudes, appreciations, skills and abilities are primarily the product of :
SLLHENSHUIN 6T 2_6TETITMH M6V, LEOTLILIMETeMLN &6, LDGILILTH 86T, HMedTsH 6T oM miLD
S MENLNGH T ——— (NS0T LD 6066 & LD.

A : Thinking
&\ 1b & 607 60T
B : Teaching
&ML 8 5 6060
C : Learning — (Correct Alternative)
&M medleor
D : Interest
&9l (B L1115 ) 60T
In Learning curve, the period of little or no gain in learning is known as

&HMHM6L auemeTalev, FCH I FIMl56me HMMED 6V6VS 6TSI6 D &HEVEVITEMLD STEVLD
6TEOT LIS :

A : Initial lag
SQLTLOLI & 600T&H & LD

B : Plateau — (Correct Alternative)
G555 [blemev

C : Cessation of learning

@eOLBl0ISS bleney




D : Decreasing gains

GOMEUTEH QLIMM6V

122|122 Level of performance to which one aspires for future is called as

R(HeUFleT TH FEHMTeL NHLUSHMETEH Ij6mL e85 @smev ML 6US 6TEOTLS ———
3G LD.

A : Principle of pleasure
LS EFF U 6T HHSIeILD

B : Use of reward
Q6 LDIT6OTE B\ 60T LI 60T

C : Use of competition
GumL_iquieor Liulesr

D : Aspiration level — (Correct Alternative)

3|6Ume)] Blemsy

123|123 Who maintains the school as a "Miniature Society " ?

LeTerfleml ' ml Fenss D' 94,8 HLSHWeU

A : John Dewey — (Correct Alternative)
e meor (Bl

B : Thurstone
& [J6N 60T

C : Dimock

60LLOMTE
D : Thompson

&ITLD6N 60T




124 124 According to John Dewey is the only source of true knowledge.

o 6ooTeMLOWLITEOT i Mlemed ——— elpevld WL GG QUM (LU LD eTedToy 82mest Guil
Fo IS DT

A : Learning
&6V
B : Cognition
Sipleummmev
C : Experience — (Correct Alternative)
I|DILIGILD
D : Memorizing
LO6OT60T LD Q& UL &6V

125 123 reinforce the concept of 'life-long education' by providing for part-time study, in different
disciplines.

LIVBaumI SHlemM&6leL LIGH GBI LIl LI eneor 6rflgh Sl 'aUmLDBITET GLITS 60160 6T60TM
Q& maTen & Ulemer —— auaviaL L & mS!.

A : Pace setting schools
(LpeoTGeorTLq. LieTerfla e
B : Mobile schools — (Correct Alternative)
BLLOTGID LieTerflaseT
C : Community schools
Felnss LieTerflaser
D : Navodaya schools
BCaUMSWIT LeTerflg 6T

126 126 Sarva Shiksha Abhiyan has been operational since




S|6M 6T (HE G LD L TLDL Hevel eTeTLIG! 21,6007 60 (HH ! QFWeLLIMTL )M S
UHSHS!.

A 1993 - 1994
1993 — 1994
B : 2001 -2002
2001 —2002
C: 1999 -2000
1999 —2000
D :2000 - 2001 — (Correct Alternative)
2000 —2001

127 127 " In nature there is enough for everyone's need, but too little for everyones greed " - said by

"@ UM & U6V 160)60T6U (HEEHLD CLIMSEILDITET 2|6ME0THSILD D 6T, S, 60TIT6V,
Ilaursefler GUIMeNF& G Ws FIMIULIS TS 2 _6TemE", 6T60T Jo MG T

A : Rabindranath Tagore
TeiBHIBMS STl
B : Mahatma Gandhi — (Correct Alternative)
ID&TSLOIT &THS)
C : Sri. Aurabindo Ghosh
wof TLBe G men
D : J Krishnamoorthy
1. B ®egeuoTen S S
Planning, Organization, Motivation, Control and Evaluation are the components of .
SILLLOIBH &6V, BlTeUSR &S 560, 2600568 L1LMESHH6, HLHLLUGSSISH60 LnMmmID IS L6V
GUImeTMEm6U 60T 2_L_Fo MIGETITESLD.

128 128
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A : Cultural process
HOTEFEFT (LDOM
B : Financial process
BISIblenev Lpemm
C : School management — (Correct Alternative)
&Hevall BlJeUMssLD
D : Political administration
TH W6V BlFeUmsLh

Navodaya, Sainik and National open schools are come under the management of

BCEUMSHWIT, & 6ufls LnMHmIh CHF W HMIHSHBlenev L6TeTlS6T 6TH Lr‘)]l;remrrasg,@m &LD
S|eMLOULD ?

A : State government

LOMBl6V T

B : Central government — (Correct Alternative)
DEHW 9| T8

C : Local body
e ML &

D : Private sector

geoflwmy Lifley

Which programme helps poverty children to attend school ?
aumiennuilev eI GLLIHeMN S Eem6T L6Tefle @ aurg QFWW TS LD 2 gallulg ?

A : Free school meals programme — (Correct Alternative)




@)6VEUTF 2_6U0TE) QULOMHIGLD HILL LD
B : Free uniform programme

@6veudF FHemL QILPMHIGLD S L LD
C : Free textbooks programme

@eVaIF LG5 5MmIGET aULNMHIGI0 HILLLD
D : Free school bags programme

@o6velF L5551 60l aILPmIGLD S L LD

131 131 According to American educators the I.Q level of the trainable retardation is

Q& sevallwmerisserler &@heH SN LUIME) 6L mISH 8 Fa.lq.Ul Lowrsusm;r&@
GSenmUMT(H 260 GuirifleoT Hievorevor ey FFe Hlemey LG LD.

A :50-60
50 - 60
B:60-75
60 - 75
C:20-30
20-30
D : 25 - 50 — (Correct Alternative)
25-50

132|132 Which of the following is called 'Electronic blackboard of the Future' ?
B LD 5 600TL_6U M MIET 6TS '6eTH &MV LA 60T60TE00! S (HLDLIGVEM ' 6T6OTMI SRS EHLILIGSH S ?

A : Computer

& 600116011
B : Radio
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QU@ 60T mell

C : Educational Television — (Correct Alternative)
&H6V6 QHME6VSITL T

D : Mobile Phone

& LICUET)
Petrol, Kerosene oil, electricity, wind, water and sun all together forms a concept.
QUL G IT6V, L0600 G 6v0T600T @ 600T UL, LAlGOTF ML, &M, BT LDMHMILD &KW 6T 248 Wl
TSI CEFTHSI &H([HS NS 2_(HEUITE G 5 60TM60T.

A : Relationship
Q&ML
B : Conjunctive
QBIBMHIF G)60)600T 55
C : Disjunctive — (Correct Alternative)

LN f1Blemev
D : Complex

&) 85556V T60T

theory is described as a constructivist approach to cognitive development.

SL Ll 3 s0i& emmullesflearoy imleFmr aueTiFFemwl ellens @Geus)
CamLum( &,& L.

A : Bruner's

L| @ 6vor [f | 60T

B : Erickson's

6T 1f18 & 60fl 60T
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C : Piaget's — (Correct Alternative)
LA wimGegedleor
D : Vygotsky's
606U & ITL_610 & 60T
During period, cognitive behavior of the child is controlled by perception.

GBS U 6T 2MleFTT L &S HTVESL L EH 60 L|eveTs L& eLpeuld
SLOLUUGSSLILIGRMSI.

A :2-4years
2 — 4 91,600T(H &6IT
B:0-2years
02 =1,600T(H) &H6IT
C:7-11 years
7-11 21,6007 (h) & 61T
D : 4 - 7 years — (Correct Alternative)
4-7 21,6007 () & 61T

The quality of the teacher in terms of his mastery over the subject matter, teaching skills, etc. is a

factor in learning.

LUTLUUG&S WL 6u6v6vITesor S mentn, &MmLING 860 G meotleor 616V6VTE0oTemL0
GurmestmeumMledT eLneuld sp(H S Fluiflest LisvorL QeuerflliLI(Beug &M medleor
& TIeool 1 WIMEGLD.

A : Environmental
& (DI & EL06V
B : Resource — (Correct Alternative)

GUGITELN6VLD
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C:

D:

Experiences
9|60 LI6) IS 6T
Personal

QFMHS

"Counselling is a face to face relationship in which growth takes place in the counsellor as well as counselle"
Defined by :

M emT QILLMIG LB, SMle]enT QLMILIAI[HLD, HHisEhenL W GHflemLwl 2 medledr
eLNEVLD QUETTEDF &Moo LIGS "Ml en ] LISTEH6V" 6T60T8 Snmluled

A

: F.C .Throne

F.C. &G meor

: E.G. Williamson

E.G. efleved Wb &eor

: Ruth Strang — (Correct Alternative)

J& VLGl

: Good C.V.

&L C.V.

is not the imposition of one person's point of view upon another person.
eTeoT LIS LNMTLSS! 6 ([H6U 60T 6T600T600T M5 60)6TE 56001 1L1LIS 6T60T LIGH) 6V6mI6V.

: Advice

3, GV ITEF 60 60T

: Order

&L_Leme6T

: Guidance — (Correct Alternative)
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QN ST (H 6V
D : Counselling
2 Mleyeny LISISHe
At formal operational stage, the child develops the ability to think about .

(LLEMMUWIITOT GF W6V Blenevuilev, GLOHem S U1 LIMMIW S bS50 6Ts
FmeNLNEMW QUTTSH SIS Q&G TTHMSI.

A : Abstract concepts — (Correct Alternative)
LI6ooT LI U1 6V ITEOT & (TH &5 &1 8585 61T
B : Concrete events
LjeveofLmeoTelmemmL1 Lim Ml &b 6060
C : Symbols , words and pictures
GMISH6T, QEFMME 6T LDMHMILD LIL[HIS 6T
D : logical and organized but still very concrete
LjeveofLTerelMemm & ST [f S WIMTHe)LD HHBISHMIN&HEH6|D 61&F U560

Expansion of CLASS for
CLASS —60r ellfleum&ss1D :

A : Computer Learning and Studies in School
Computer Learning and Studies in School

B : Computer Literacy and Studies in School — (Correct Alternative)
Computer Literacy and Studies in School

C : Computer Literacy and Studies in Subject
Computer Literacy and Studies in Subject

D : Computer Learning and Studies in Subject
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Computer Learning and Studies in Subject

succeeded in establishing Maratha rule in the Tamil region.

SULGESH 6 IDTTESES W oL Flenwl g HLUMSSHIUFH 6V Qeum & & 60T L 6T

A : General Venkoji — (Correct Alternative)
SeTLUS) GleumGaHmel)
B : Serfoji 11
FrCUMeS LD6OTEOTI
C : Shivaji
LOMLN6oTEoT T Sleumed]
D : Shahji Bhonsle
aqmedl GLimeTenuGev
Pick out the odd man.
G LD 55 600T L_6meU & 6rfleL GaumiLIL L gl

A : Lords
GLITITL_6M
B : Oval
69616V
C : Leeds
6561
D : Green Park — (Correct Alternative)
&\ Fe0T LTS
Which one of the viral disease is completely eradicated from our society by vaccination ?

BLD FWNSTWSH O BHS (NWeNLOWTSH SO LILLEF U 60T LIWI6TLITL_LQ 63T eLN6VLD 6TTHS




emeUTerv GHITUI G &ELILIL (h6Terma ?

A : Chikungunya
&) &5 (& 60T (G 60TUIT
B : AIDS
6TUIL_6M)
C : Mumps
QLIMTEOTEn)I 8 (& eI MBI S
D : Polio — (Correct Alternative)
@) 6mTLDLI6Tem 6T 6UMSLD

144|144 A contemporary of Louis XIV of France is

LN T medTery & 6ot XIV sumulugedr &0 STevsH S STEFT

A : Babur
LUy
B : Shah Jahan — (Correct Alternative)
62 [T 85 T60T
C : Aurangzeb
QI HBIGFL
D : Sher Shah
Qaqreqm
The process of loss of water from the aerial part of a plant in vapour form is called as

&ITEUT I & 6T 60T @)6M6V 5 S16m6TE 6T 6ULNIWITS BImeorsl oLeilulms Qeuaﬂczu_lguem@gp
6TeoT LILI(H)LD.

145 145




A : Evaporation
wms ey
B : Condensation
26l & (BHMhIGSH6v
C : Transpiration — (Correct Alternative)
BrmelllGuUTs: &
D : Precipitation
efLDLILG.6)IT& 6V

146|146 Which crop is cultivated in Coimbatore plateau and Vaigai-vaippar river basins ?

GammwibL sy LTl LGS ulswid, 6m6alema LMHMILD 606U QLM MIBlIeVLI
LGB &eflald erhs (G w Luily tuilflLuu@Sma ?

A : Cotton — (Correct Alternative)
L®GSS
B : Sugarcane
&H([HLOL]
C : Oil Seeds
6T600T G 600T LI 6)11 855185 85 61T
D : Pulses
LIBLIL] 6U60)&H&H6IT

147|147 Which one of the highest peak in the Southern part of the Eastern Ghats is located in this range ?

PPEHGHS QSTLIFF nemevulesr Q& 60TLIGS U6V 60D HHIGTET 2_UWTLNTET FI&FLID 6T ?

A : Solaikaradu — (Correct Alternative)

CEFMemeV&H&HT(H




B : Pachaimalai
LIF6m& LD6DI6V

C : Kanjamalai
&H©6HFLD6DI6V

D : Gingee hills
Q& EHF\LD6mI6Y

148|148 Which Dam is known as 'Karaiyar Dam' ?

6TIHS 2606007 'S6MITUIITIT' 2J60600T 6T60TA 60LPESLILIHHMSI ?

A : Bhavani Sagar Dam

LI6UT60l | FMTEIT B{60)600T

B : Amaravathi Dam
ST TS 3|60 6007
C : Krishnagiri Dam
&) (1 619.600T &\ [f | 2460 600T
D : Papanasam Dam — (Correct Alternative)

LITUBTELD 2606007

149 1149 The area of continental shelves of Tamil Nadu is :

SLOILDIBITL1.60T S600TL_HIL_(h LIFLILIGTEUTE0TS :

A : 41, 412 sq. km — (Correct Alternative)

41412 .99
B: 51512 sq. km

51,512 .85
C:31,412 sq. km




31,412 &.9.15
D: 21,512 sq. km

21,512 &.9.10

Which of the following peak is not located in Western Ghats ?
B Lh&e00TLelMmmI6T CLMEG QSTLIFH nemevuileh @6LevTs FI&TLD 615! 2

150 150

A : Doddabetta
Q&BTLLQLILLIT

B : Vembadisolai
GaulbLIlg G&FMTen6V

C : Muganur — (Correct Alternative)
N&TT

D : Pagasura

LS M&TT




